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(2) : 1453

What are the root causes of the central problems of an
economy ? How production possibility curve is used to solve

these problems in a capitalist economy ? ; 15
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(@)  Distinguish between price elasticity of demand and

income elasticity of demand. ek

(b)) Why is the sign of price elasticity of demand

negative ?

(¢) -~ Why is elasticity different at different points on a

negatively sloped straight line demand curves ? 5
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(@)  Show the derivation of demana curve for a normal good

from price consumption curve, 10

() Exp!ain and show the slope of indifference curve in case

of perfect substitutes and perfect complements. ]
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(4) 1453
With suitable diagrams explain the law of diminishing

returns. 5

Calculate total variable cost, average fixed cost, average
variable cost, average cost and marginal cost from the

table given below : 10

Oqtplil % Total Cost
(units) (Rs.)

0 200

1 20

2 236

3 246

4 264

5 295

6 356
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(6) 1453
Give the features of a perfectly competitive market. Why are
the profits in such a market eliminated in the long-run ? Explain

using diagrams. 15
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Distinguish between monopoly and discriminafing
monopoly. How are prices and output determined under simple

monopoly ? : 15

qa?rrwqa‘ﬁam@mnﬁwwaﬁmn

A THIFR F ST<fa F90 To SemeT a1 Frsiieon

H wQ E 2

(@)- “The gains from international trade arise from
different opportunity costs in the two countries.” Discuss

in detail. . 7a

(b)  Give arguments in favor and against protection. 7%
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Write short notes on any rwo ; Tat7
(@)  Backward bending supply curve of labor

(b)  Prisoners dilemma

(¢)  Total expenditure method to calculate price elasticity of

demand.
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